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© Reference Points

*] Points with known coordinates

:] They are used as the reference to determine
new points

1] Coordinates of new points are referenced to
the same coordinate system

1] Surveying observations are distances, angles
and relative elevations between reference and

new points




— B (—)

% A Reference point

( 6 © New point
~ v Angle measurements

ﬁ <" Distance measurement
//

17 5




Legend

4

2. Control point :ﬁ_ Measured angle

~

©  Traverse station Y« Measured distance




— B (—)

% A Reference point

( 6 © New point
~ v Angle measurements

ﬁ <" Distance measurement
//

17 5




—ESAE (—)

"] iFEEL[RE [ B4R EEREE
E BREF = %eBTER
= =l h5E = BRCENESIZES]E]

s BRUHEBED
n BHREER
[ HlAE RS )
n BIRHEES
n BIREES
E AREEH
= 6EA
m HIRERSI0-100m




| R ESTE

[ 82 100 AR{FEREE <5 cem
D K ARERHE

E FAIEIKEARZE < 307
- ﬁiizﬁﬁ'a’#

0 AEEAE w,mZBA— (n-2)*180°
0 SRS E wymZBSf— (N+2)*180°
F AERGSESE Uz=607
@ |w,|<U, & U=607




— B (—)

% A Reference point

( 6 © New point
~ v Angle measurements

ﬁ <" Distance measurement
//

17 5




| R ESTE

[ 82 100 AR{FEREE <5 cem
D K ARERHE

E FAIEIKEARZE < 307
- ﬁiizﬁﬁ'a’#

0 AEEAE w,mZBA— (n-2)*180°
0 SRS E wymZBSf— (N+2)*180°
F AERGSESE Uz=607
@ |w,|<U, & U=607




—ESAE (—)

] E | BiRAE
= A = KRR
- MaEs = ERETER
" PR = AREREE
= L
= BRI,
[=]
[=]

E] &

ST E




I © 00 000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

o ETE

iBKEE

Swimming Pool

r center
i

of Music

AR Bxig
Cheng Building Cin Building
novation incubatol

Cm—
BI2ELT EXE (N
ollege of Managel Jheng Building Pu Building

t ht Av
» S
-2 TEAE
Women’s Dorm 1 ) Normal Building ¢ @

BeaE et
all I I Gymnasium Field and Track

1IBKZ
Administration Building

83

Men’s Dorm 1

Kigg
Auditorium

. 4 E
ESITEN: Yaojhih Building
Fine Arts Building

BESR (Longquan St.)




Szl (=

v 51 4E
= @R

L s13ams
v 52483
T B
L, g omms
vl 3 4Emy
T BRI
EoRehi:eethd

OO

https://plus.google.com/u/0/




[ BEREx1

1 fmEIMIZR x 2
E =A7RE x 2




= EEE (=)

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo




[ RIRIEFE X 1
B EXEx1



E HERGOmM) x 1
[ TH&= X1
= $EFE x 1
[ 7K45 X 2
E ZBEH x 1




1 ZE2h "] ROE%
(SR E RIEERCERE/K AR
E IRIGEENESS SOl =R
DR AE E KA B BBlECER TN
[ EELRERE LR AR A AR E

= HIE= [ EE RS E NG
E HIEE SEIE

= AIPKEE B E SIRARRSELKRE
= 2] =L aAasTE
» WEIEKFEEBE < 307




fml fmd

W& Lk

i3

L
B

= B LT T e B L C LT TP

=

545 T 3=

4 #

v

ol

B

iR 2




ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

5%

- ——_— RA £ A H % 7
KFABAREER 3 ¥
R FlEE TG =93
Alss | R sk
=% | 00 00, 00 o
A06 : s s |
s | 180 00 04| 00 00 02 .25
L& =% | 30 10 00 o
A02 e . P 38.885 m
#% | 210 109:58] 3009159 30 :09:57
4% | 180 00 | 00 -
A06 |y |00 00 02| 180 00 01 4526
11| AO1 — e —
% | 210 {09 : 59 1 138.885m
AUZ1 s | 59 190 1] 210 10 00| 30 09 59
4
mAlElER = = B0°09'59” - 30°09'57" = 2| < 30”
\f i




—~ Bi5Hls (=)

o g%& 9|"n\§. it 4t

J\’ﬁ:iﬁu 88°45" |# &
, 4
a3 S 54.16 404

e 2680 415’
/ o k
92 08,05,,

87°36'10"

99.93

181°10"25"
4029 § 405
180°10'35"

61.94

88" 17'52"
o o) 903748 L
54.79




—_EBHAE (=)

E B4RETE B Dt - EEEESEZ
B HEAERSEZNIESRS IEE
B EEXIEZIFE B KRR HAISE
B EEHA B V= Wy S/ ZS
B ETES4t - WSEEIEE n Ve =-We S;/3S
m AN=S<cosA B eSS R ERE

m AE=SsinA Ny =N+ (AN + V)
sTEEEE SR EER S LB s E=E +(4E;+ V)
o EtEg - R o e e

s HEEEFRBASZE wy = 24N

. RS W, = 24

s FERERAGZE ws = (wy?+ wg?)t?

[=]

FASLLR 45 = ws / BRER 2S
& LLBISEHE U,=1/3000




—~ Bi5flE (=)

O HAt=EERRERNE
_EI Determining the quadrant and its computation formulé

— USing GP :tanl(EPj
Np

« If E, 20 and N, >0 inquadrantl ¢, =6,
. |f Er20 and N, <0 inquadrantll ¢, =6, +1
. f Er <0 and N, <0 inquadrantlll ¢, =6, +1T

. 1t Er <0 and N, >0 inquadrantlV ¢, =6, +2m
. |f EP >O and NP:O (pp:n/z

« If Eo <0 and N, =0 g0P=3772

— Using 6, =atan2(N,,E,) E

e If 6,>0 inquadrantlorll ¢, =6, 11 |

e If 6, <0 inquadrantlliorlV ¢, =6, +2mr
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